
SUBJECT: TINE KIT  INSTALLATION  INSTRUCTIONS

1.Remove tiller attachment from the tractor.
2.Remove the tines and hardware from one side only, leaving the other side as a

pattern for the new set.
3.Install the new tines as illustrated in Fig. 2. Be sure that the sharp edge of the tine is

positioned to contact the ground first. The tines turn in the same foward direction as
the wheels. Do not tighten the bolts at this time.

4.Install the tines on the other side.
5.Be sure that the tines are properly installed as illustrated in figures 1 & 2, then

tighten the tine bolt nuts to 17 foot pounds. Re-check the torque of the bolts after the
first use and then again every 30 hours of operation.

6. If you have any questions please refer to your owners manual or contact your nearest
    BCS dealer.

Note: Since 1995, fig 2 has been the standard equipment tine. Both styles of tines will work on tillers newer
than 1995, so long as the hub the tines bolt to is round, as is shown in fig.1

Figure 2Figure 1

1/01 Page 1 of 1

T18U     (Fig 2) T20U     (Fig 2) T26U     (Fig 2) T30U     (Fig 2)
(6) 58059277 RH Tine (8) 58059275 RH Tine (10) 58059275 RH Tine (12) 58059275 RH Tine
(6) 58059278 LH Tine (8) 58059276 LH Tine (10) 58059276 LH Tine (12) 58059276 LH Tine
(8) 31112152 M8x30 Bolt (8) 31112152 M8x30 Bolt (8) 31112152 M8x30 Bolt (8) 31112152 M8x30 Bolt
(8) 31112153 M8x35 Bolt (8) 31112153 M8x35 Bolt (16) 31112153 M8x35 Bolt (16) 31112153 M8x35 Bolt
(16) 31423084 Lock Washer (16) 31423084 Lock Washer (24) 31423084 Lock Washer (24) 31423084 Lock Washer
(16) 31241080 Lock Nut (16) 31241080 Lock Nut (24) 31241080 Lock Nut (24) 31241080 Lock Nut

T18R     (Fig 1) T20R     (Fig 1) T26R     (Fig 1) T30R     (Fig 1)
(6) 58059284 RH Tine (8) 58048460 RH Tine (10) 58048460 RH Tine (12) 58048460 RH Tine
(6) 58059285 LH Tine (8) 58048461 LH Tine (10) 58048461 LH Tine (12) 58048461 LH Tine
(24) 31112219 Bolt (32) 31112219 M10x25 Bolt (40) 31112219 M10x25 Bolt (48) 31112219 M10x25 Bolt
(24) 31423105 Lock Washer (32) 31423105 Lock Washer (40) 31423105 Lock Washer (48) 31423105 Lock Washer
(24) 31241100 Lock Nut (32) 31241100 Lock Nut (40) 31241100 Lock Nut (48) 31241100 Lock Nut

CONTENTS

SERVICE
INFORMATION 3-3


